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1-8 HWTAMERRL“ S/~ B -

a3 -
o -

@0.5KMMEHLIE -
()30 psi WHHED
{€}2400 rpm o
(0)— B X MAVE & 3200 1bf o
@F WM M 425 in® o
)2U. S. qt B 1-pt o
(& 55 mph o
() 15 gal ¥ o
() 147 KIS o
@—XBMBR 43,560 ft* > FLIO.S EMERAm BRE

A:%(‘;s,seo; (0.305 )* = 2025 m*

- (- : D SR P
®p=(30psi) (6890 psx) ( 153 Pa/,kPa) =207 kPa

- 1 1 _ -
.“c)" - (:400 min)(GO s/min) =40s™

B n=(40s")(2x)=251rad/s
(@m=3200/32.2=99.4 slug
m=(99.4)(14.6 kg/slug) = 1450 kg
@V = (425in*) (0.0254m/ m)’ (10dm/m)*= 6.96 dm
RSN 6.967 .
®Y =2.5/4=0.625US gal
V=(0.625US gal ) (0.00378 m* /gal ) (100 cm/m)}°*
= 2360 cm* ( 2360 ml )
®v=(5mi/hr)(1.61km/mi) = 88.5 km/hr
MV =(15gal) (0.00378m?* /gal ) = 0.0567 m*
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1-9 ReiBEHNLRR o—-—-r %M 300N:m s DIk d=20mm » RIS o
HMERM 7 ( MPa ) XLl kpsi RESIRAM ?

.. 32M . . _ _ 32X3000 ..
B: o= — M=300N msd—20mm,a_n—>-<—(ao—2—)-5~384MPa
1
1X2.2%(39.37) X~
VP 2 12 32 32.174 .3
Pa==1 N/m* = (‘39.37), Ibf / in
=1.45X10"* psi
¢=55.39 Lpsi

1-10 —BOMEDRR y=Lopts + K F=0.450 kN » £=300 mm » £
207 GPa » d=19mm » R yHE( gm ) °

. ._B4Fg _
®: =S B F =0.450 kN £=2300 mm
E =207 GPa d=19mm

_ 64X0.45%X10°X(0.3)® .6
= 37%207 X 10° X (0.019)¢ = 10°=3058 #m

1-11 ZMIE1-10 BAR » BERE y=1.50 mm » BEH FEH LN » £ 4
=250mm » E=207 GPa » d=20 mm °

B: »)=1.50mm £=250 mm E =207 GPa d=20 mm
_3nyEd
= 6448
_37x1.5x10° x207x10°‘x(0 023* o 10
64%(0.25)°

=0.468 kN

1-12 #1-98AR$ » FM=200N-m - ¢ =150 MPa s RERJ °

g 32M 32X 200 a_
W:d= ¥ 20 = Ysxisoxior <10 =239 mm

1-13 EEHEFHERKELARBU =4FD*N/d'G » NRREBOEM - £ F



3
=4N s D=11mm > N=36 » G=79.3 GPa » d=1.2 mm » H N#R
®E(RN-m) -
W: F=4N D=11mm N=36 G =79.3GPa d=1.2 mm

4FD'N _ 4x4*%(0.011)* X 36

U=—gzc ~(0.0012)* X79.3X10°

=0.0186 Nem

1-14 iﬁﬂlﬁﬁiﬁﬁ y=8FD*N/d*G » RIUME1-13hWMPWLHME ( mm ) °
B : F=4N D=11 mm N=36 d=1.2mm §=79.3 GPa

_glf‘}?ﬂ_8x4x(0.011)’x36x10_'__9 32 mm
~ gD ~ (0.0012)*x79.3x10"  °°
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2-1 ¢, =10kpsi , 0y = —4 kpsi
e -
™ T Thps !
5 P
r._\L/f. T T
2-2 o0.=10 kpsi , T«v = 4 kpsi cw
23 o0:=—2kpsi , 0, =— 8 kpsi , t =4 kpsi ccw

a*°




6

2-4 0, =10kpsi , 09y =5Kkpsi , rsy = 1 kpsi cw

2-85 09.=-17kpsi , 0, =— 4.kpsi , T4y = 7 kpsi cw

r

N ’ .
\\. / fm;‘lb trm‘
- o= -oﬂS\lf'"

S n -20.06 kpps

2-6 o0.=-— 10kpsi , 0y =— 12kpsi , .y = 6 kpsi ccw

2-7 T
7 :
AN
<
. ’Ii. ,l" \V‘
A [ ‘l-’y [y
r=10.28 \q»f //
. " 3 ’ X
r:.:'“"'s b i b o



2-8 o0.=4kpsi, o, =12kpsi , ray =7 kpsi ccw

021606 kpsi, Tyi~0.0eksi g o

POEE2-9~2-1 2Kk FAI M MR » FEMEIN » REMOREFA » XK xy BN
5B N MSTHBL o

2-9 5, =-30MPa, 0, =— 60MPa , ra = 30 MPa ccw

2-1¢ 0. =—90MPa , o, = 10MPa , 7., =40MPa cw

T l{tw)
—
e ——\
% VAN ! N
; / ':u \S\“ ‘ \\ \\'
i ! '
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2-11 o0, =75MPa, 0, = ]15MPa., r,y = 32 MPa ccw

= -4 MR,

2-14 ¢.=- 50MPa , oo = 60 MPa , t.;, = 80 MPa ccw



frlor.d ",
n=-qt! Wy

2-17 £ o1 =12 kpsi » BB o2 =2 kpsi - 8 = ¥ o HAER 30°CW
30° C.C.W Bf 0. ~ o, R 7, RS2 _
W:®Da =12 kpsi a» =2 kpsi =-30°
slmp
12--2 560"_*_1?,;2 =9.5 kpsi

0. =~ 5 CO
2
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sKpsi
a, :—1—2—-1_Z ~12-2 cos60°=4.5 kp#i
2 2
., =—1—2-213 sin60° =4.33 kpsi C.W.
® ¢=30° o: =9.5 kpsi g, =4.5 kpsi

T, =4.33 kpsi C.C.W.

2-18 WHEFATHENE 14 MPa Lk oo =6MPa » HH r BFIHRATENNA
BB 100° C.C.W »Ro. ~ o, W17, » HR 80° C.W. |9

BW: Do =14MPa g, =6 MPa $=-100°
=18 1978 cog20c =6.24MPa

T ///”\

e AN

/
. {T\;\- héd \ .
% k \_7\\}1"‘ MPa

20
\ /
. .
146
=

_14+6

a, 5

4 - cos 20° = 13.76 MPa

N "1"4’%’9 sin20° =1.37 MPa C.W

Tey ==

@ ¢ =- 80°
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2-19 ER2-1HRFHFMBEOHZHEIMHRBEANES -

B:B1-7 TR TAER

oy G2
2-1 10 0
2-3 0 0
2-5 0 —0.95
2-7 10.25 0

2-20 H2-194#8E  HEME -
B:Bh1-8UBTAEE

(4] /4]
2-2 11.4 0
2-4 10.2 4.8
2-6 0 -4.92
2-8 16.06 0
2-21

M: i 9-167 HTINEER

o 02
2-9 0 —11.46
2-11 88.9 1.14
2-13 136 0
2-15 20 0

—10
-20.05
— 6.25

(4]

—1.4
0
—17.08
—0.06

WK 2-9hryEBE » ®2-19 46 -

—78.5

—93.8
—80

-7 kpsi

kpsi

8.54
8.06
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2-22 32-21 HEEEYE-
BR: H9-16 I8 THIER

o a2 a3 r=2 T
2
2-10 24 0 —-104 64 MPa
2-12 144.9 0 —24.9 84.9
2-14 102.1 0 —92.1 97.1
2-16 36.6 0 —76.6 56.6

2-23 —HRBEMABRAEREOmm ERB 15mm » HZEH 175kN o AR :
@EESH OHEN (COBY DERBINE
z (15)¢ =175 _

87 - — — 2 . ~_-9__ 0.
B2 : (8) A 4 177 mm® ; o 177 0.989 G Pa
_a_—0.989 _ -
(b) € =5= 507 =—4.78(10) ?* m,
©8. =%F ==0-9880) = ¢ 380 mm

(d8=—pda=—(0.292)(—-0.382) =0.112 mm

2-24 WMHYEB=HME ( Mohré three-circle diagram ) » SRR TFFIL& G4
y REBEEHRRANES :
(a) {2 (b) i M 5 (e AHE = R y HRAIZ B HRL R
¥ : @ ©

T
'

i
o & i—on NN
Toex :_E‘- 4{%— o Tmex = — 5 1 ':_/‘y’l r
N \

(b) c, (d

2-25 —#EAERSY in, B840in » A T 3000 1b FE®KE :
@RKENWEIRHBER



O EBERAE  IRAMREAR » RAESERET?
CRRLBEHEN o

_m(0.5) _ < s . . _ 3000
.(a)A~————4 = (.196 in*; 0_0.196

= 15,300 psi

5 -2 _ (15,300)(40)
T E 30(10)°
@wnhA—%E
3000(40)
0.0204(10.3)(10)°

det = 4 / 4_(2,'_5_@ =0.852 in

©o = 03228 5240 psi

=0.0204 in

A= =0.570in* ;

2-26 —EHHFLIH  EENEMTH A - HEBTER 0.0625 in » BLIE
BEHARA 1S kpsi » ERHEERS tons » RTAMHER-PE=
30 N'psi °

FL _ 5000%36
B: @A=5p =095 30X T0°

HAN RS

A=lxoxm6=0024m2

d= /—5—51») 0.175 in

_F_ 5000 _ . .

# d=0.175in&H

=0.096 in®

BEH2-26

2-27 —BHREELEELTES 0. = 0, = 300psi > MBS AR R F
BB 0.05 in » HHEFEBEUS 500 kpsi » MR 3B 200 kpsi
REBEENERE > 5 H x HANEMHRES -

B: E=2G(1+p) 500=400(1+¢)
u=0.25



